PS027 Installation Instruction

Please be sure to use a manual screwdriver and refrain from /
using an electric drill.

= - —

Plastic bulkhead™5 JD02%4 M2 hexagon socket screws*8

' e —— *'*

Inner hex wrench®*1 M6 hexagon socket screws™4 M4 hexagon socket screws™5





















iespectivelyA



















Use M4 hexagonal socket screws and hexagonal wrench to fix in the white holes.

\
















































Use M6 hexagonal socket screws and hexagonal wrench to secure



Then use M2 hexagonal screws and hexagonal wrench at the top white hole

to fix it









Use M6 hexagon'secket screws and hexagonal wrench to fix the other side.

vt S -





































Use M6 hexagon socket screws and hexagonal wrench to fix the other side.

- L U G, T




























[
- '
»

Use M2 hexagonal socket screws and hexagonal‘wrench to fix the whiteiholes. 4

r 4 y 4




Use M2 hexagonal socket screws and hexagonal wrench to fix the white holes.




-

Use M6 hexagonal socket screws and hexagonal wrench to fix the remaining side.

r 4 Bl

























